
Solution to Harvard Puzzle  #2 

C A C A D E D O L E D
I N E R I M I N A N E
M O L E C I V E T A M
E R I C A N A R E M O
R A S A L I N E S E S
A M P R O V O S T S C
R A P E S I N E D I R
E M U S T R E F U G E
A E R S E T T E E L A
R N E R R U S T L E S
P A P A G E O E R S E

 
The omitted letters (in parentheses in the list below) spell 

STEVEN HYMAN 
 

Across 
1. CA(S)CADE 
2. DOLED 
3. IN(T)ERIM 
4. INANE 
5. MOLE 
6. CIVET 
7. AMERICANA 
8. REMORA 
9. SALINE 
10. SESAM(E) 
11. PROVOST 
12. SCRAPE 
13. SINE 
14. DIRE 
15. MUST 
16. REFUGE 
17. A(V)ER 
18. SETTEE 
19. L(E)ARNER 
20. RUSTLES 
21. PAPAGE(N)O 
22. ERSE 

Down 
1. C(H)IMERA 
2. REAR 
3. PANORAMA 
4. MENACE 
5. LISP 
6. PURE 
7. PARE 
8. CARESS 
9. RADICAL 
10. O(Y)STER 
11. GEMINI 
12. VIRTUE 
13. DIVAN 
14. (M)ONET 
15. SOONER 
16. E(A)SE 
17. FETE 
18. LATEST 
19. DUEL 
20. RENAME 
21. SI(N)GLES 
22. DEMOS 
23. CREASE 

 

 
 


